K B2A1

48

Y7 A2 84 2 7|=2SAS A 3H, =¥, 2022.06.24. L34, 3T 14>
i (o] P = olg
REA o= 10{440 +6.62+5.62+3.62+4.42+7.47+842+10.42
. 3 . . 3|
32 +13.42+ 16.47 /X 10000 = 308.71 % 100007 () o
T O
FEHA} o= 17.57 X 10000 =+4300 (L)
17570
ouxl 3
wulg 069 WATo Y 7] 369 HES APS W wHulE
p7t 059} 0.7 Ato|Y &S T8l
197 0| THE p= ZAH o R N(06, (06x04)/36)¢ AFEEZES ooz =2
; _ A 24
. 0.5—0.6 06 0.7—06 +38
P05 <p <0.7)=P < =
Wi gl [ V06 =04/36 ~ v06x04/36 ~ +0.6x04/36
Pl—+235 < Z< +35)
1.22 1.22
—2P(Z <425) —1 — 87608
1.22 0.7776
o|c}.
3o UX|=E2ZHconsistent estimator)
mar go] 2ATG g ole} 3w 9]olQ] k4 cof Wit §, 0] g0 BE4d o
216 DL, = A2
T O
imP(16,-01<e)=1 &= limP(16,— 0l =&) =0
n— oo n— oo
o] Aatd 4,8 09 UxlFmzola} s},
5 SEMz X7 7 4 9l FH50) AFel YL A={1, 2, 3, 4, 5, 6}0]aL
Hagkr Fla)e
0. r<1
1
—_ “ o D
6 1=z
1
) 2=ax<3 Az
344 Pla)={3 olm, P(X=3)=F(3%)— F(3") = +— %:% w2
L 2 4%
o|c}.




KM B8E2A1

367

SEWS Xob Vi 9o 4A5S 44 4 gloh

O U A7 EEE =EssYL
ZAreryc.




